TECHNICAL
BULLETIN

N87-2019.11

E50 EVO

Solution for increased productivity

content:

@ PROFILES @ DETAILS
@ PROFILES 1:1 @ ACCESSORIES

ETErnm



sliding window system with thermal break

E50 EVO

Weight Weight
code Profile Length code Profile Length
Moment of inertia Moment of inertia
I FFT»
E50130 2 | 2177 g/m
N L=6.01
Double rail Jf T T3 n
\L 1248 \L

] T

E50133 jtﬁ‘

2 2%k g/

Triple rail Jvf L:601gmm

(double glazing ] K te

& fly screen) A 166.8
] T

Ei 76.2

ES0111 767 216 o/

Additional single h Lzﬁ'oﬁj r:,n

glazing rail ALAA—
] T
] T
] T

T87 Erem

Nov 2019



sliding window system with thermal break ES0 EVO

E50130
Double rail
2171 g/m
o ) £ 3
CHD D
< y
U 1 u U l—m—
¢ J [ 1@5 J [ |
124.8
E50133
Triple rail
(double glazing & fly
screen)
2618 g/m
T [p ) ¢ 3
C ) C )
3
! U 7” A U U U
5 J L J@E J [ |

scale : 111

T8 ETErnm

Nov 2019




sliding window system with thermal break ES0 EVO

E50111
Additional single
glazing rail
1216 gr/m “
=
scale : 11
. erem

Nov 2019




sliding window system with thermal break ES0 EVO

E50680

£50201

0747172

NEENNENNNENENNNNENNNAUNENNANNNNNENNRNNRNNRNNNA NG NA AN RNNA RN N RN

4.8

1215

110.8

130048

q

36

\ E50130

scale : 111

T8 ETErnm

Nov 2019




sliding window system with thermal break

ESO EVO

080200

074766 130048

36

45

1215

scale : 111

TB87
Nov 2019

ETErnm




sliding window system with thermal break

ESO EVO

1215

82.5

130048

scale : 111

TB87
Nov 2019

ETErnm




sliding window system with thermal break

ESO EVO

/ /
L > | ; G
‘N
>

080204

il

Wmm

I
T T

o e ]

[ Ex

E

l

130769

||

i ~ 5

022.02%02%072°(

)

130176

<

— _1]
074743
T ‘r /—

| <

i ™~ 074741

41 080202
o =]

TTTT TN T T TTIITIIIITL]
\

[T ITTT IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

/

\

/ 080517

\ E50203

355

20.5

12

TB87
Nov 2019

ETErnm




ESO EVO

sliding window system with thermal break

_,
e
KX XXX TR KKK XX
NN

_ N

£50203

L & &y

£50203

189.8

ETrT

Nov 2019

TB87



sliding window system with thermal break

ESO EVO

! 074766 130048

TB87
Nov 2019

ETErnm




sliding window system with thermal break ES0 EVO

INSTRUCTIONS FOR SEALING BLOCK ET.240839.00

SEALING BLOCK
ET.240839.00 IS INSERTED
INTO THE BOTTOM RAIL
BEFORE ASSEMBLING ALL
PARTS OF THE RAIL
(RAIL & PVC ET.080200.00
ARE CUT TOGETHER).

FOR FIXING THE
SEALING BLOCK USE

(3

4 PCS OF SCREWS

3.9x13mm DIN 1981C _Zo @

SEALING BLOCK ET.240839.00

FOAM

FIX INTO THE CAVITY OF THE SEALING BLOCK THE
FOAM ACCESSORY (FOR LIFT & SLIDE HARDWARE)

7887
Nov 2019 ETErnm




ESO EVO

MACHINING ON E50130 FOR DRAINAGE

sliding window system with thermal break

DNIMVYQ JHL NI Q3LNISTHd SV 'NIIMLIE NI QIHINN SI SITOH

NIVY0 40 dIVd VYLX3 NV NIHL 'wwpog SOIFIX3 ¥0 TvNo3
SITIVY 3FHL 40 31700IW 3HL NI ONV d3INH0J JHL NI dIWd04
S3T0H NIVHYQ FHL N3FML3E FONVISIA3 JHL LVHL ISVI Nl

1no

ETErnm

vy WOL10d

JAd 40 310H NIVdd
JHL 40 S3dIS Hl1oY 1V
INVIVIS ATddV SAVMIV

053 40 INIHIVIW BNIHINNd
JHL DNISN 03WA04d3d SI BNINIHIVIW S.TIVd %

NI

Nov 2019

TB87




ESO EVO

sliding window system with thermal break

MACHINING ON E50130 FOR DRAINAGE (REQUIRED FOR HIGH PERFORMANCES)

S13IMIvyg

YINY0D LNIOr LSVI 310 IHL ONIXI4 340438 'SLYISNI WVO4

JHL 40 30IS ¥V3Y IHL LV 00°€108ELLT INVIVIS AlddV SAVMIV
‘ONIMVYQ 3HL NI 0ILN3SIHd SV Iy WOLL108 3HL

40 S3IILIAVI FHL NIHLIM Q3XI4 34V (00'6780%Z°L3) SLYISNI WYOA

BOIAIIKHAKKY
R R

m_ H @ "o v,

(seouewiopad ybiy Joy palinbal) SIATYA 40 NOILISOd @

1no

dV14 HLIM

=T

00ELOBELLS

WKDV

007£L7£043

—

ETrT

TB87

Nov 2019



sliding window system with thermal break ES0 EVO

INSTRUCTIONS FOR PLASTIC STOPPER ET.074766.00

ET.130772.00
4\4
44%?\ﬁﬂ£! : 4
‘ /|
ST 3.5x19mm %
DIN 7982C . < /
Sl
ST 3.5x19mm I
DIN 7982C .
e
ET074766.00
N
1887 ET &Erm

Nov 2019




sliding window system with thermal break

ESO EVO

MACHINING REQUIRED FIXING HANDLE & HARDWARE ON BALCONY DOOR SASH

40
><\e/
o

L0
&

1008
CENTER OF HANDLE
(MEASURE FROM SASH BOTTOM)

405

E50203

FOR GU HARDWARE

21
13.5

96
—

1008
CENTER OF HANDLE
(MEASURE FROM SASH BOTTOM)

A I N e

L

1 {1 .

* R=3mm

ATTENTION: ALL THE ABOVE ARE VALID
FOR 150KG LIFT & SLIDE HARDWARE

ATTENTION: THE CENTRE OF THE
HARDWARE IS VALID ONLY FOR DOORS

X | *x
LM
N
(@]
LM
(@]
B A
LM
(@N]
(w)
T w
—
o
=
<<
| T
O w
oo
A<
b
=
]
X | *x [
19
155
1 1
m 3
* R=3mm
ATTENTION:

THESE INSTRUCTIONS ARE ALSO VALID

FOR E50201 AND E50202

(MEASURE FROM SASH BOTTOM)

TB87
Nov 2019

ETErnm



sliding window system with thermal break ES0 EVO

INSTRUCTIONS FOR FIXING ET.074813 ONTO THE SASH FRAME

ET074813.00

HEIGHT OF SASH
FRAME

ET074772.00

NUT M5
DIN 934

IN ORDER TO FIX THE GEAR OF G.U. L&S
HARDWARE ONTO THE SASH FRAME, FIX 2

aap BOTTOM SIDE OF

M5 NUTS (DIN 934) ONTO ARTICLE SASH FRAME
ET.074813.00, ACCORDING TO THE
DRAWING
ARTICLE ET.074813.00 IS FIXED ON THE BOTTOM SIDE OF THE HEIGHT
OF THE SASH FRAME, AT THE SIDE WHERE THE GEAR OF THE
HARDWARE IS TO BE FIXED.
ATTENTION: THE FIXING HOLE OF ET.074813.00 MUST BE ORIENTED TO
THE UPPER SIDE OF THE HEIGHT OF THE SASH FRAME. THE SIDE OF
ET.074813.00, WHERE THE NUTS ARE ENCASED, WILL BE IN CONTACT
WITH THE PLASTIC SPACER ET.074772.00.
)
T 2
2
* THE BOTTOM SIDE OF ET.074813.00 MUST
BE POSITIONED 3mm FROM THE BOTTOM OF THE
] POLYAMIDE OF SASH PROFILE
n ET.074813.00 IS FIXED ONTO THE SASH FRAME USING
% ONE (1) SHEET METAL SCREW 4.8x30mm DIN 7982
E =
= /,/ [
% I/ A
/ *
('/’ o o
, .

TB87
Nov 2019




sliding window system with thermal break

ESO EVO

INSTRUCTIONS FOR FIXING ET.074812.00 ONTO THE GEAR OF THE HARDWARE

s D oo

S

S o u@guﬁ? -

A
Q

/ \ETO0747%2.00

| J

ET074812.00

ARTICLE ET.074812.00 IS FIXED ONTO THE REAR SIDE OF THE GEAR OF
THE L&S G.U. HARDWARE, IN BETWEEN THE FIXING POINTS OF THE GEAR,
ACCORDING TO THE DRAWING.

ATTENTION: ALWAYS TAKE CARE WHILE FIXING ARTICLE ET.074812.00
ONTO THE GEAR, SO THAT THE FIXING HOLES OF THE GEAR ARE
COAXIAL WITH THOSE ON ET.074812.00

TB87
Nov 2019

ETErnm




sliding window system with thermal break ES0 EVO

INSTRUCTIONS FOR FIXING G.U. L&S HARDWARE ONTO THE SASH FRAME

DIN 7982
ST 4.8x55mm
NEW SPACER
- B ET.074772.00
THE LENGTH OF THE CONNECTING ROD IS CALCULATED USING FORMULA
L-570, WHERE L = WIDTH OF SASH FRAME
DIN 7982
ST 4 8x55mm e CONNECTING ROD IS FIXED BOTH WITH THE REAR ROLLERS, AS WELL AS, WITH
THE CORNER TRANSMISSION, THAT CARRIES THE FRONTAL ROLLERS. THE
; ASSEMBLY IS PLACED ON THE BOTTOM SIDE OF THE SASH FRAME AND IS
NEW SPACER FIXED STARTING FROM THE CORNER TRANSMISSION
| ET.074772.00
J e  THE CORNER TRANSMISSION WITH THE ROLLERS IS FIXED ONTO THE PLASTIC
SPACER ET.074813.00, USING SCREWS M5x15mm & M5x30mm DIN 965,
© RESPECTIVELY. THEN IS FASTENED ONTO THE BOTTOM SIDE OF THE SASH
o FRAME USING SHEET METAL SCREWS 4.8x50mm DIN 7982, AS PRESENTED IN
o THE DRAWING
e  THE REAR ROLLER IS FASTENED USING COUNTERSUNK SHEET METAL SCREWS
4.8x50mm DIN 7982
e THE GEAR IS FASTENED AFTER INSTALLING THE ROLLERS, USING SHEET METAL
SCREWS 4.8x55mm DIN 7982, APART FROM THE LOWER ONE (ON THE SIDE OF
THE CORNER TRANSMISSION) THAT IS M5x30mm DIN 965
NEW SPACER
ET.074772.00
DIN 7982 NEW SPACER
ST 4.8x55mm ET.074772.00
‘
|~
J/;f: A E:::::::::::::::::::::::::::::::::::::::::::::::::::::3
|
) TH OF
CUTTING LENG
DN 965 CONNECTING ROD NEW SPACER
M5 x 15mm NEW SPACER ET.074772.00
- ET.074772.00 \_ -
DIN 7982
DIN 965 DIN 7982 ST 4.8x50mm
M5 x 30mm ST 4.8x50mm
1887 ETErnm

Nov 2019




sliding window system with thermal break ES0 EVO

code/description package/pcs

colour

ET 130048.00

TR

IR AT
Gasket for sash profile @ i.l:n-_du.i

bt
|
L.
T
i
S | R

[F=Ta5
&
a5

==

= 'L
D 43 9
eend
{ !L=JL_JE;
| {——1

T

-
M
|

Plastic stopper 80mm

T

EPDM seal gasket for
stopper

N
A
i i
Plastic spacer 150mm, for ﬁ
gear GU937 & rollers L. -
5 "
ba o

7887
Nov 2019 ETErnm



sliding window system with thermal break ES0 EVO

code/description package/pcs colour

eT 080200.00 ()

PVC profile for rails
(bottom, upper, jamb)

L]

Set of foam inserts for
cavities of rail E50130 (ji
ik

7 SERRRRIRR KR RUR KRR
R R REEEERBBEIEEEEE

Q2
0‘0’0’0’0’0’0’0’0‘0’0‘0‘0’0’0’0’0’0’0’0

Set of foam inserts for @ [ B N i
cavities of rail E50133 % H QTHTS 1

Central sealing block
for bottom rails (lift &
slide)

7887
Nov 2019 ETErnm


istilianesi
Typewritten text
availability: January 2020


sliding window system with thermal break ES0 EVO

code/description package/pcs colour

ET 240818.00

Foam part (41 mm) for sealing :
sash - interlock '
on top of ES50 g

Pair of plastic plugs
for interlock

Plastic plug with foam insert
for interlock bottom
(ONLY lift & slide)

Plastic plug for upper side
of interlock (for lift &
slide)

7887
Nov 2019 ETErnm



	PAGE_15.pdf (p.1)
	TB87_E50_EVO.pdf (p.2-22)
	cover page_evo.pdf (p.1)
	TB87_E50_EVO.pdf (p.2-21)


